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fnuksa esa 3 fdeh dh nwjh dk vksojfczt
cukus dh ;kstuk cukbZA bl dke ds
fy, mUgksaus 90 deZpkfj;ksa dks dke ij
j•k FkkA 200 fnuksa ds dke ds ckn]
;g ns•k x;k fd iqy dk dsoy 0.5

fdeh gh iwjk gqvk FkkA dk;Z dks le;
ij iwjk djus ds fy, fdrus vfrfjÙkQ
deZpkfj;ksa dh vko';drk gS\
(1) 100 (2) 140
(3) 125 (4) 135

Q.5 A shopkeeper bought a cycle
for `1,200 and sold it for
`1,500. Find his profit/loss

percentage./,d nqdkunkj us ,d
lkbfdy `1,200 esa •jhnh vkSj mls
`1,500 esa csp fn;kA mldk ykHk@gkfu
çfr'kr Kkr dhft,A
(1) 3% profit (2) 15% profit
(3) 30% loss (4) 25% profit

Q.6 9435 is added to 7593, then
2607 is subtracted from the
sum. The result is divisible

by:/9435 dks 7593 esa tksM+k tkrk
gS] fiQj 2607 dks ;ksx ls ?kVk;k tkrk
gSA ifj.kke foHkkT; gS%
(1) 4 (2) 10
(3) 3 (4) 5

Q.7 In a XYZ, XO is the median

and XO = 
1

YZ
2

. If YO = 30°,

then what is the value of
XO?/,d XYZ esa] XO ekfè;dk

gS vkSj XO = 
1

YZ
2

 ;fn YO =

30°, rks XOdk eku D;k gS\
(1) 15° (2) 90°
(3) 30° (4) 60°

Q.8 Find the LCM of 186.6 and
373.2./186.6 vkSj 373.2 dk
y?kqÙke lekioR;Z Kkr dhft,A
(1) 373.2 (2) 398.2
(3) 186.6 (4) 276.6

Q.9 A copper sphere of diameter
18 metre is drawn into a
cylindrical wire of length 12

QUANTITATIVE APTITUDE
Q.1 The table given below shows the

production and consumption of
coals of 6 different countries./

uhps nh xbZ rkfydk 6 fofHkUu ns'kksa ds
dks;ys ds mRiknu vkSj •ir dks n'kkZrh gSA

Country
P
Q
R
S
T
U

Production
170
336
244
330
275
195

Consumption
132
248
185
245
226
174

What is the value of total
consumption of coal of all the 6
countries?/lHkh 6 ns'kksa ds dks;ys
dh dqy •ir dk ewY; D;k gS\
(1) 1010 (2) 401
(3) 1210 (4) 201

Q.2 If 
4

4

1
x

x
  = 194 and 

3

3

1
x

x


= ?/;fn 4

4

1
x

x
  = 194 vkSj

3

3

1
x

x
  = ?

(1) 52 (2) 58
(3) 76 (4) 67

Q.3 Simplify the given

expression./fn, x, O;atd dks
ljy dhft,A
(5x + 8y) (25x2 + 64y2 - 40xy)
(1) 125x3 - 512y3

(2) 25x3 + 64y3

(3) 125x3 + 512y3

(4) 25x3 - 64y3

Q.4 A civil contractor planned to
build an over bridge of 3 km
distance in 600 days. For this
purpose, he employed 90
workers. After 200 days of
work, it was observed that
only 0.5 km of the bridge was
completed. What is the
number of extra workers
required to complete the work

in time?/,d flfoy Bsdsnkj us 600

2
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meters. What is the radius of

the wire?/18 ehVj O;kl okys rk¡cs
ds ,d xksys dks 12 ehVj yEcs ,d
csyukdkj rkj esa •hapk tkrk gSA rkj dh
f=kT;k D;k gS\
(1) 5 meters/eh
(2) 9 meters/eh
(3) 3 meters/eh
(4) 12 meters/eh

Q.10 The length and breadth of a
cuboid is increased by 20%
and 25%, respectively, while
its height is reduced by 30%.
What must be the total
percentage increase/decrease
in the volume of the cuboid?/

,d ?kukHk dh yackbZ vkSj pkSM+kbZ esa
Øe'k% 20» vkSj 25» dh o`f¼ dh
tkrh gS] tcfd bldh ÅapkbZ esa 30»
dh deh dh tkrh gSA ?kukHk ds vk;ru
esa dqy çfr'kr o`f¼@deh fdruh gksuh
pkfg,\
(1) Increase by 5%/5% dh òf¼
(2) Increase by 3%/3% dh òf¼
(3) Decrease by 2%/2% dh deh
(4) Decrease by 4%/4% dh deh

Q.11 Find the fourth proportional
to the numbers 24, 192 and

27./la[;k 24, 192 vkSj 27 dk
prqFkZuqikrh Kkr dhft,A
(1) 216 (2) 108
(3) 162 (4) 170.67

Q.12 The following bar graph shows
the sales of books (in
thousands) from six branches
of a publishing company
during two consecutive years

2018 and 2019./fuEufyf•r ckj
xzkiQ yxkrkj nks o"kks± 2018 vkSj 2019 ds
nkSjku ,d çdk'ku daiuh dh Ng 'kk•kvksa
ls iqLrdksa dh fcØh (gtkjksa esa) n'kkZrk
gSA
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Sales of books from six branches of 
publishing company

1 2 3 4 5 6
Branches

2018

2019
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n

d
s
)

What is the average sales of
all the branches (in
thousands) for the year
2018?/o"kZ 2018 ds fy, lHkh 'kk•kvksa
dh vkSlr fcØh (gtkjksa esa) fdruh gS\
(1) 84 (2) 78
(3) 80 (4) 86

Q.13 The below bar graph
represents the number of
students who qualified int he
GATE exam, the GMAT exam,
the CAT exam and those who
qualified in none of these
exams. (Given that there are
no students who passed two

or more exams.)/uhps fn;k x;k
ckj xzkiQ mu Nk=kksa dh la[;k dk çfrfuf/
Ro djrk gS ftUgksaus xsV ijh{kk] theSV
ijh{kk] dSV ijh{kk mÙkh.kZ dh vkSj buesa
ls fdlh Hkh ijh{kk esa mÙkh.kZ ugha gq,A
(;g ns•rs gq, fd nks ;k nks ls vf/d
ijh{kk,¡ mÙkh.kZ djus okys Nk=k ugha gSaA)

60000
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40000

30000

20000

10000

2000 2019
Year

2020
X

Y

NONE GATE

CAT GMAT

The percentage of students
who qualified in at least one
of the three exams in 2018

was:/2018 esa rhu esa ls de ls de
,d ijh{kk esa mÙkh.kZ gksus okys Nk=kksa dk
çfr'kr Fkk%
(1) 72.72% (2) 77.67%
(3) 83.83% (4) 67.67%

Q.14 The pie chart given below
shows the number of television
sold by 8 different companies.
The total number of television
sold by all these 8 companies
is 21000. The number of
television sold by a particular
company is shown as a percent
of total number of television
sold by all these 8

companies./uhps fn;k x;k ikbZ pkVZ
8 vyx&vyx daifu;ksa }kjk csps x,
Vsyhfotu dh la[;k n'kkZrk gSA bu lHkh
8 daifu;ksa }kjk csps x, Vsyhfotu dh
dqy la[;k 21000 gSA fdlh fo'ks"k
daiuh }kjk csps x, Vsyhfotu dh la[;k
dks bu lHkh 8 daifu;ksa }kjk csps x,
Vsyhfotu dh dqy la[;k ds çfr'kr ds
:i esa fn•k;k x;k gSA

U
4%

Q
17%

P
13%

W
10%

V
32%

R
1
5
%

S
3%T

6%
J1 = The value of average
number of television sold by

P and W./J1 = P vkSj W }kjk csps
x, Vsyhfotu dh vkSlr la[;k dk ekuA
J2 = The value of average
number of television sold by

Q, R, S and V./J2 =  Q, R, S

vkSj V }kjk csps x, Vsyhfotu dh
vkSlr la[;k dk ekuA
What is the value of (J2 -

J1)?(J2 - J1) dk eku D;k gS\
(1) 5630 (2) 2046
(3) 11025 (4) 3260

Q.15 The length of the altitude of an

equilateral triangle is6 3 m. The
perimeter of the equilateral

triangle (in m) is:/,d leckgq f=kHkqt

ds 'kh"kZyac dh yackbZ 6 3  eh gSA
leckgq f=kHkqt dk ifjeki (ehVj esa) gS%

(1) 12 2 (2) 36 2

(3) 36 (4) 24 3
Q.16 cos(30° + ) - sin(60° - ) = ___.

(1)
3

2
(2) 0

(3)
1

2
(4)

1

2
Q.17 A starts from a point at a

speed of 34 m/s. After 5
seconds, B starts chasing A
from the same point at a
speed of 44 m/s. What will be
the distance travelled by B

before A is caught by B?/A ,d
fcanq ls 34 m/s dh xfr ls pyuk
çkjaHk djrk gSA 5 lsdaM ds ckn] B

mlh fcanq ls A dk ihNk 44 m/s dh
xfr ls 'kq: djrk gSA A }kjk B dks
idM+s tkus ls igys B }kjk r; dh xbZ
nwjh fdruh gksxh\ eh
(1) 748 meters/eh
(2) 862 meters/eh
(3) 675 meters/eh
(4) 549 meters/eh

Q.18 The average of the first 7 non-

zero multiples of 17 is:/17 ds
igys 7 xSj&'kwU; xq.kdksa dk vkSlr gS%
(1) 67 (2) 68
(3) 69 (4) 66

Q.19 Find the value of the following

expression./fuEufyf•r O;atd dk eku
Kkr dhft,A
5(sin4 + cos4) + 3(sin6 +
cos6) + 19sin2 cos2)
(1) 8 (2) 5
(3) 6 (4) 7

Q.20 What is the total surface area
of a cone, if the slant height
and radius of a cone is 30 cm

and 14 cm, respectively?/,d
'kadq dk dqy i`"Bh; {ks=kiQy D;k gS]
;fn ,d 'kadq dh fr;Zd ÅapkbZ vkSj
f=kT;k Øe'k% 30 lseh vkSj 14 lseh gS\
(1) 1980 cm3/lseh3

(2) 1963 cm3/lseh3

(3) 1908 cm3/lseh3

(4) 1936 cm3/lseh3
Q.21 What annual installment will

discharge a debt of  ̀ 9,600 due
in 5 years at 10% simple

interest?/dkSu lh okf"kZd fdLr 10%

lk/kj.k C;kt ij 5  o"kks± esa ns; ̀ 9,600

ds ½.k dk Hkqxrku djsxh\
(1) `1450 (2) `1550
(3) `1500 (4) `1600

Q.22 Simplify 236 108 81x x  .

(1) 6x - 9 (2) 2x - 9
(3) 5x - 9 (4) 3x - 3
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Q.23 What will be the value of

tan45 tan45

1 tan45 tan15

 

  
?/dk eku D;k

gksxk \

(1) 3 (2)
1

2

(3)
1

3
(4) 2

Q.24 If sin = 
3

5
, then what is the

tan ?/;fn sin = 
3

5
, rks tan 

dk eku D;k gksxk\

(1)
3

5
(2)

4

3

(3)
4

5
(4)

3

4
Q.25 What will be the cost price of

the goods if a shopkeeper
allows a discount of 10% on
the marked price of  ̀ 100 and
gains 8%(rounded off to the

nearest integer)?/;fn ,d
nqdkunkj `100 ds vafdr ewY; ij
10% dh NwV nsrk gS vkSj 8% dk
ykHk çkIr djrk gS (fudVre iw.kkZad
rd) rks oLrq dk ykxr ewY; D;k gksxk\
(1) ` 83 (2) ` 86
(3) ` 87 (4) ` 81

GENERAL AWARENESS
Q.1 Who has been signed on as a

brand ambassador of lubricant
manu-facturer Gulf Oil India in
October 2022?/vDVwcj 2022 esa
Lusgd fuekZrk xYiQ vkW;y bafM;k ds
czkaM ,acslMj ds :i esa fdls gLrk{kfjr
fd;k x;k gS\
(1) Sonu Sood/lksuw lwn
(2) Rishabh Pant/½"kHk iar
(3) Sania Nehwal/lkfu;k usgoky
(4) Smriti Mandhana/Lèfr eaèkkuk

Q.2 The motion of the body
moving along a circular path

is an example of ______./,d
o`Ùkkdkj iFk ds lkFk xfreku 'kjhj dh
xfr ______ dk ,d mnkgj.k gSA
(1) decelerated motion//heh xfr
(2) accelerated motion/Rofjr xfr
(3) non-uniform motion/

vleku xfr
(4) uniform motion/,dleku xfr

Q.3 Which of the following bills
can be initiated only in the

Lok Sabha?/fuEufyf•r esa ls dkSu
lk fo/s;d dsoy yksdlHkk esa gh 'kq:
fd;k tk ldrk gS\
(1) Private members bill/futh

lnL; fo/s;d
(2) Constitution amendment

bill/lafo/ku la'kks/u fo/s;d
(3) Government bill/ljdkjh

foèks;d
(4) Money bill//u fo/s;d

Q.4 Where does the headquarters
of the Indian Council of
Agricultural Research Institute

located?/Hkkjrh; Ñf"k vuqla/ku laLFkku
ifj"kn dk eq[;ky; dgk¡ fLFkr gS\
(1) Amritsar/vèrlj
(2) Surat/lwjr
(3) Lucknow/y•uÅ
(4) New Delhi/ubZ fnYyh

Q.5 From which year did Sangeet
Natak Akademi, New Delhi,
institute the Ustad Bismillah

Khan Yuva Puraskar?/laxhr ukVd
vdkneh] ubZ fnYyh us fdl o"kZ ls
mLrkn fcfLeYykg •ku ;qok iqjLdkj
dh LFkkiuk dh
(1) 2001 (2) 2005
(3) 2004 (4) 2006

Q.6 Which of the following are

food preservatives?/fuEufyf•r
esa ls dkSu&ls •k| ifjj{kd gSa\
(1) Salt, sodium nitrite, spices

and vinegar/ued] lksfM;e
ukbVªkbV] elkys vkSj fljdk

(2) Gypsum, soda and methyl

alcohol/ftIle] lk sMk vkSj
feFkkby vYdksgy

(3) Gypsum, salt and formic

acid /ftIle] ued vkSj iQkWfeZd
,flM

(4) Formic acid, vinegar and

methyl alcohol/iQkWfeZd ,flM]
fljdk vkSj feFkkby vYdksgy

Q.7 Who among the following was
conferred with the Padma Shri
Award, 2021, for populating
folk dance in rural Karnataka,
Tamil Nadu, and Andhra

Pradesh?/fuEufyf•r esa ls fdls
xzkeh.k dukZVd] rfeyukMq vkSj vka/z
çns'k esa yksd u`R; dks yksdfç; cukus
ds fy, iÁ Jh iqjLdkj] 2021 ls
lEekfur fd;k x;k\

(1) Rama Swamy Annavarapu

/jke Lokeh vUuojkiq
(2) P Anitha/ih vuhrk
(3) Pappammal/iIiEey
(4) Matha B Manjamma

Jogati/ekFkk ch eatEek tksxfr
Q.8 Which of the following Chola

ruler built a temple for goddess

Nishumbhasudini?/fuEufyf•r esa ls
fdl pksy 'kkld us nsoh fu'kqaHklqfnuh ds
fy, ,d eafnj cuok;k Fkk\
(1) Aditya I/vkfnR; I

(2) Rajendra II/jktsUæ II
(3) Vijayalaya/fot;ky;
(4) Rajaraja I/jktjktk I

Q.9 Which of the following line
separates Pakistan and

Afghanistan?/fuEufyf•r esa ls
dkSu lh js•k ikfdLrku vkSj viQxkfuLrku
dks vyx djrh gS\
(1) McMohan line/eSdeksgu js•k
(2) Jinnah line/ftUuk js•k
(3) Durand line/MwjaM js•k
(4) Radcliffe line/jsMfDyiQ js•k

Q.10 The Phase –I programme of
‘Sagar Parikrama’ has been
organized in Gujarat, started
on 5th March, 2022 from ___./

xqtjkr esa ^lkxj ifjØek* dk pj.k–I

dk;ZØe vk;ksftr fd;k x;k gS] tks 5
ekpZ] 2022 dks __ ls 'kq: gqvk gSA
(1) Kheda/•sM+k
(2) Porbandar/iksjcanj
(3) Banaskantha/cukldkaBk
(4) Mandvi/ekaMoh

Q.11 Who was Player of the Match
in the final of U-19 World Cup

cricket,2022?/U-19 fo'o di
fØdsV] 2022 ds iQkbuy esa Iys;j vkWiQ
n eSp dkSu Fkk\
(1) James Rew/tsEl js
(2) Nishat Sindhu/fu'kkr fla/q
(3) Raj Bawa/jkt ckok
(4) Yash Dhull/;'k <qy

Q.12 Warren Hastings became the
first Governor General of
India in which year?/okj su
gsfLVaXl fdl o"kZ Hkkjr ds igys xouZj
tujy cus\
(1) 1767 (2) 1757
(3) 1773 (4) 1783

Q.13 When expenditure exceeds
revenue, the budget is said to

be in __./tc O;; jktLo ls vf/d
gks tkrk gS] rks ctV dks __dgk tkrk gSA
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(1) deficit/?kkVk
(2) surplus/vkjf{kr
(3) reserve/vf/'ks"k
(4) debt/½.k

Q.14 Who wrote the book titled ‘Gift

to Monotheism’?/^ fxÝV V w
eksuksfFkTe* uked iqLrd fdlus fy•h
gS\
(1) Swami Vivekanand/Lokeh

foosdkuan
(2) Dayanand Saraswati/n;kuan

ljLorh
(3) Kehsavchand Sen/ds'kopan

lsu
(4) Rajaram Mohan Rai/jktkjke

eksgu jk;
Q.15 Yamini Krishnamurthy is

famous for which dance

form?/;kfeuh Ñ".kewfrZ fdl ùR; 'kSyh
ds fy, çfl¼ gSa\
(1) Manipuri/ef.kiqjh
(2) Odissi/vksfMlh
(3) Bharatanatyam/HkjrukVÔe
(4) Yakshagana/;{kxku

Q.16 What is the set of ecosystem

called?/ikfjra=k ds leqPp; dks D;k
dgrs gSa\
(1) Stratosphere/lerki eaMy
(2) Hydrosphere/tyeaMy
(3) Biome/ck;kse
(4) Atmosphere/okrkoj.k

Q.17 Who choreographed the
Bollywood song ‘Mohe Rang
Do Laal’ from Bajirao

Mastani?/ckthjko eLrkuh ds
ckWyhoqM xkus ^eksgs jax nks yky* dks
fdlus dksfj;ksxzkiQ fd;k Fkk\
(1) Saroj Khan/ljkst •ku
(2) Farah Khan/iQjkg •ku
(3) Ganesh Acharya/x.ks'k vkpk;Z
(4) Birju Maharaj/fcjtw egkjkt

Q.18 Which of the following is a
strong reducing agent used to
reduce aldehydes, ketones,
esters, carboxylic acid
chlorides, carboxylic acids and
even carboxylate salts to

alcohols?/,fYMgkbM] dhVksu] ,LVj]
dkck Z s fDtfyd ,flM Dyk s j kbM]
dkckZsfDtfyd ,flM vkSj ;gka rd fd
dkckZsfDlysV yo.k dks vYdksgy esa de
djus ds fy, fuEufyf•r esa ls dkSu lk
,d etcwr de djus okyk ,tsaV gS\

(1) Titanium hydride/VkbVsfu;e
gkbMªkbM

(2) Lithium aluminum hydride

/fyfFk;e ,Y;wehfu;e gkbMªkbM
(3) Calcium hydride/dSfY'k;e

gkbMªkbM
(4) Bismuth hydride/fcLeFk

gkbMªkbM
Q.19 The headwaters of the river

Ganga is called ___./xaxk unh dh
Åijh tyèkkjk dks ____dgk tkrk gSA
(1) Mandakini/eankfduh
(2) Alaknanda/vyduank
(3) Bhagirathi/HkkxhjFkh
(4) Sursari/lqjljh

Q.20 In hockey, what is the
meaning of the signal if the
umpire points both arms
horizontally towards the

goal?/gkWdh esa] ;fn vaik;j nksuksa Hkqtkvksa
dks y{; dh vksj {kSfrt :i ls bafxr
djrk gS] rks flXuy dk D;k vFkZ gS\
(1) Free hit/Úh fgV
(2) Penalty corner/isuYVh dkWuZj
(3) Penalty stroke/isuYVh LVªksd
(4) Goal scored/xksy fd;k

Q.21 Government of India has
appointed ____ as Controller
General of Accounts in October

2022./Hkkjr ljdkj us vDVwcj 202(2) esa
ys•k egkfu;a=kd ds :i esa ____dks fu;qÙkQ
fd;k gSA
(1) Vinayak Godse/fouk;d xksMla
(2) Sandeep Bakshi/lanhi c['kh
(3) Bharati Das/Hkkjrh nkl
(4) KG Mohan/dsth eksgu

Q.22 Low annual range of
temperature and high annual
rainfall are characteristics of a

_____./de okf"kZd rkieku vkSj mPp
okf"kZd o"kkZ ,d _____ dh fo'ks"krk,a gSaA
(1) Mediterranean climate/

Hkweè;lkxjh; tyok;q
(2) temperate climate/le'khrks".k

tyok;q
(3) tropical humid climate/

m".kdfVcaèkh; vkæZ tyok;q
(4) cold climate/BaMh tyok;q

Q.23 In ancient times, the area to the
south of the Ganga was known

as___./çkphu dky esa] xaxk ds nf{k.k ds
{ks=k dks ____ ds :i esa tkuk tkrk FkkA
(1) Magadha/ex/
(2) Kosala/dks'ky
(3) Anga/vax

(4) Matsya/eRL;
Q.24 ______ port, situated at the

head of Gulf of Kuctch has
been developed as a major
port to cater to the needs of
western and north-western
parts of the country and also
to reduce the pressure at

Mumbai port./dPN dh •kM+h ds
'kh"kZ ij fLFkr _____ canjxkg dks ns'k ds
if'peh vkSj mÙkj&if'peh Hkkxksa dh t:jrksa
dks iwjk djus vkSj eqacbZ canjxkg ij ncko
de djus ds fy, ,d çeq• canjxkg ds
:i esa fodflr fd;k x;k gSA
(1) Ahmedabad/vgenkckn
(2) Kandla/dkaMyk
(3) Kochchi/dksfPp
(4) Kolkata/dksydkrk

Q.25 In which of the following years
was the Citizenship Act passed
by the Indian Parliament?/

fuEufyf•r esa ls fdl o"kZ Hkkjrh; laln
}kjk ukxfjdrk vf/fu;e ikfjr fd;k x;k
Fkk\
(1) 1950 (2) 1945
(3) 1955 (4) 1948

Q.1 A # B means 'A is the brother
of B'.
A @ B means 'A is the son of
B'.
A & B means 'A is the father
of B'.
A % B means 'A is the mother
of B'.
If W # Q @ T & Y @ M % K %
L, then how is K related to W?

A # B dk vFkZ gS 'A] B dk HkkbZ gSA
A @ B dk vFkZ gS 'A] B dk iq=k gSA
A & B dk vFkZ gS 'A] B dk firk gSA
A % B dk vFkZ gS 'A] B dh ekrk gSA
;fn W # Q @ T & Y @ M % K %

L, rks K] W ls fdl çdkj lacaf/r gS\
1. Sister/cgu
2. Sister-in-law/HkkHkh
3. Mother/ek¡
4. Daughter/iq=kh

Q.2 In a certain code language,
'PEPPER' is coded as 76 and
'CUCUMBER' is coded as 86.
How will 'CAULIFLOWER' be

coded in that language?/,d
fuf'pr dksM Hkk"kk esa] 'PEPPER' dks
76 vkSj 'CUCUMBER' dks 86 ds
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:i esa dksfMr fd;k tkrk gSA ml Hkk"kk
esa 'CAULIFLOWER' dks dSls dksfMr
fd;k tk,xk\
1. 125 2. 126
3. 116 4. 106

Q.3 Select the figure that will
replace the question mark (?)
in the following figure series./

ml vkÑfr dk p;u djsa tks fuEufyf•r
vkÑfr J̀a•yk esa ç'u fpÉ (\) dks
çfrLFkkfir djsxhA

     

1. 2.

3. 4.

Q.4 If A - B means that A is the
father of B,
A + B means that A is the
mother of B,
A × B means that A is the
brother of B then which of the
following expression shows
that Q is the brother of P?

;fn A – B dk vFkZ gS fd A] B dk
firk gSA
A + B dk vFkZ gS fd A] B dh ekrk
gSA
A × B dk vFkZ gS fd A] B dk HkkbZ
gS rks fuEufyf•r esa ls dkSu lk vfHkO;fÙkQ
n'kkZrk gS fd Q] P dk HkkbZ gS\
1. P × Q - R 2. P × Q + R
3. R + P × Q 4. Q × P - R

Q.5 By interchanging the given
two signs which of the
following equation will be not

correct?/fn, x, nks fpUgksa dks vkil
esa cnyus ij fuEufyf•r esa ls dkSu lk
lehdj.k lgh ugha gksxk\
+ and ÷
1. 12 ÷ 8 × 12 + 6 - 7 = 21
2. 9 – 3 + 12 × 8 ÷ 4 = 11
3. 46 + 23 ÷ 14 × 5 – 6 = 66
4. 6 + 20 ÷ 12 × 7 – 11 = 70

Q.6 Select the option that is
related to the third term in the
same way as the second term

is related to the first term and
the sixth term is related to the

fifth term./ml fodYi dk p;u
djsa tks rhljs in ls mlh rjg lacaf/r gS
tSls nwljk in igys in ls lacaf/r gS
vkSj NBk in ikaposa in ls lacaf/r gSA
4 : 84 :: 11 : ? :: 13 : 2379
1. 1221 2. 1463
3. 1440 4. 819

Q.7 Select the option that
represents the correct order
of the given words as they
would appear in an English

dictionary./ml fodYi dk p;u
djsa tks fn, x, 'kCnksa ds lgh Øe dk
çfrfuf/Ro djrk gS D;ksafd os vaxzsth
'kCndks'k esa fn•kbZ nsaxsA
1. Effluent 2. Edifice
3. Effleurage 4. Edacious
5. Effeminate 6. Eccentric
7. Effulgent
1. 6, 4, 2, 5, 3, 1, 7
2. 6, 4, 2, 3, 5, 1, 7
3. 6, 4, 2, 5, 1, 3, 7
4. 6, 4, 2, 5, 7, 3, 1

Q.8 Which letter-cluster will
replace the question mark (?)
to complete the given series?/

nh xbZ Ja•yk dks iwjk djus ds fy,
ç'uokpd fpÉ (\) ds LFkku ij dkSu
lk v{kj&lewg vk,xk\
XDNC, VGOE, ?, RMQI, PPRK
1. TJRG 2. TKPG
3. TJPG 4. TJQG

Q.9 Select the set in which the
numbers are related in the
same way as are the numbers

of the given set./ ml lsV dk
p;u djsa ftlesa la[;k,a mlh rjg lacaf/
r gSa tSls fn, x, lsV dh la[;k,a gSaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding / subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed.)/(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lapkyu fd;k tkuk pkfg,A

mnkgj.k ds fy, 13 & 13 ij lapkyu
tSls 13 dks tksM+uk @ ?kVkuk @ xq.kk
djuk vkfn fd;k tk ldrk gSA
(3, 13, 18)
(29, 39, 44)
1. (17, 27, 42)2. (25, 30, 55)
3. (26, 30, 47)4. (16, 26, 31)

Q.10 In the following question,
select the missing number
from the given series./

fuEufyf•r ç'u esa] nh xbZ J̀a•yk ls
yqIr la[;k dk p;u djsaA
7, 21, 63, 189, 567, ?
1. 1701 2. 1800
3. 1720 4. 1781

Q.11 A series is given with one term
missing. Select the correct
alternative from the given
ones that will complete the

series./,d vuqØe fn;k x;k gS ftlesa
,d in yqIr gSA fn, x, fodYiksa esa ls
og lgh fodYi pqfu, tks J̀a•yk dks
iwjk djsA
NTRQ, GOIF, ZJZU, SEQJ, ?
1. LZHY 2. QNRT
3. LMRC 4. LXYQ

Q.12 By Interchanging the given
two numbers which of the
following equation will be

correct?/nh xbZ nks la[;kvksa dks vkil
esa cnyus ij fuEufyf•r esa ls dkSu lk
lehdj.k lgh gksxk\
5 and 8
1. 5 × 2 - 8 + 9 ÷ 1 = 20
2. 8 + 5 × 4 - 9 ÷ 3 = 30
3. 5 × 7 + 8 - 3 ÷ 1 = 55
4. 8 - 5 × 2 + 6 ÷ 2 = -9

Q.13 Select the option in which the
given figure is embedded

(rotation is not allowed)./ml
fodYi dk p;u djsa ftlesa nh xbZ vkÑfr
lfUufgr gS (jksVs'ku dh vuqefr ugha gS)A

1. 2.

3. 4.



K
D
 P

u
bl

ic
at

io
n

KD Publication277 CGL TIER-I-2022 | 07/12/2022 | 02:30 pm

Q.14 Three different position of the
same dice are shwon. Find the
number on the face opposite

the face showing '2'./,d gh ikls
dh rhu vyx&vyx fLFkfr;ks a dks
pedk;k tkrk gSA '2' n'kkZus okys iQyd
ds foijhr iQyd ij la[;k Kkr dhft,A

4

2 5

6

3 2

1

3 6

Fig.(1) Fig.(2) Fig.(3)

1. 1 2. 6
3. 3 4. 4

Q.15 Select the correct mirror
image of the given figure when
the mirror is placed at AB as

shown./nh xbZ vkÑfr dh lgh niZ.k
Nfo dk p;u djsa tc niZ.k dks AB

ij j•k x;k gS tSlk fd fn•k;k x;k gSA

1. 2.

3. 4.

Q.16 In a certain code language,
'health is wealth' is coded as
'626', 'exercise regularly' is
coded as '89' and 'bring good
food' is coded as '544'. How
will 'balanced diet is key' be

coded in that language?/,d
fuf'pr dksM Hkk"kk esa] 'health is

wealth' dks '626'] 'exercise

regularly' dks '89' vkSj 'bring

good food' dks '544' ds :i esa
dksfMr fd;k x;k gSA ml Hkk"kk esa
'balanced diet is key' dks fdl
çdkj dksfMr fd;k tk,xk\
1. 8423 2. 7312
3. 3721 4. 4832

Q.17 In the following question
below are given some
statements followed by some
conclusions based on those
statements. Taking the given
statements to be true even if
they seem to be at variance
from commonly known facts.
Read all the conclusions and
then decide which of the given
conclusion logically follows the

given statements./uhps fn, x,
ç'u esa dqN dFku fn, x, gSa vkSj mu
dFkuksa ds vk/kj ij dqN fu"d"kZ fn, x,
gSaA fn, x, dFkuksa dks lR; ekuuk ??Hkys
gh os loZKkr rF;ksa ls fHkUu çrhr gksrs
gksaA lHkh fu"d"kks± dks i<+sa vkSj fiQj r;
djsa fd fn, x, fu"d"kks± esa ls dkSu lk
fu"d"kZ rkfdZd :i ls fn, x, dFkuksa
dk vuqlj.k djrk gSA
Statements:/dFku
I. Some G are U./dqN G, U gSA
II. Some S are U./dqN S, U gSA
Conclusion:/fu"d"kZ
I. No S is G./S, G ugha gSA
II. No U is G./U, G ugha gSA
1. Only conclusion I follows./

dsoy fu"d"kZ I vuqlj.k djrk gSA
2. Only conclusion II follows.

/dsoy fu"d"kZ II vuqlj.k djrk
gSA

3. Neither conclusion follows.

/dksbZ Hkh fu"d"kZ vuqlj.k ugha djrk
gSA

4. Both conclusions I and II

follows/ dsoy fu"d"kZ I vkSj II
vuqlj.k djrk gSA

Q.18 Select the odd group of

numbers./la[;kvksa ds fo"ke lewg
dk p;u djsaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g.13
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/(uksV% la[;kvksa dks muds

?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lafØ;k,a fu"ikfnr dh tkuh
pkfg,A mnkgj.k ds fy, 13 ij 13
lafØ;k,¡ tSls 13 esa tksM+uk@?kVkuk@xq.kk
djuk vkfn fu"ikfnr dh tk ldrh gSaA
13 dks 1 vkSj 3 esa foHkkftr djuk vkSj
rc 1 vkSj 3 ij xf.krh; lafØ;k,¡ djus
dh vuqefr ugha gS)
1. 18 - 329 2. 16 - 263
3. 14 -201 4. 12 - 149

Q.19 Read the given statements
and conclusions carefully.
Assuming that the
information given in the
statements is true, even if it
appears to be at variance with
commonly known facts,
decide which of the given
conclusions logically follow(s)

from the statements./fn, x,
dFkuksa vkSj fu"d"kks± dks è;ku ls i<+saA
;g ekurs gq, fd dFkuksa esa nh xbZ
tkudkjh lR; gS] Hkys gh ;g lkekU;
:i ls Kkr rF;ksa ls fHkUu çrhr gksrh
gks] r; djsa fd fn, x, fu"d"kks± esa ls
dkSu lk dFkuksa dk rkfdZd :i ls
vuqlj.k djrk gSA
Statements:/dFku
I. All the medicines are

capsules. / lHkh nok,a dSIlwy gSaA
II. Some capsules are

bangles. /dqN dSIlwy pwfM+;k¡ gSaA
III. Some bangles are

toothpastes. / dqN pwfM+;k¡
VwFkisLV gSaA

Conclusions:/fu"d"kZ
I. Some bangles are

medicines. /dqN pwfM+;k¡ nokbZ gSaA
II. Some toothpastes are

capsules./dqN VwFkisLV dSIlwy gSaA
III. Some medicines are

bangles./dqN nok,a pwfM+;ka gSaA
IV. Some medicines are

toothpastes./dqN nok,a VwFkisLV
gSaA

1. Only conclusions III and IV

follow./dsoy fu"d"kZ III vkSj IV
vuqlj.k djrs gSaA

2. None of the conclusions

follow./dksbZ Hkh fu"d"kZ vuqlj.k
ugha djrk gSA
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3. Only conclusions II and III

follow./dsoy fu"d"kZ II vkSj III
vuqlj.k djrs gSaA

4. Only conclusions I and II

follow./ dsoy fu"d"kZ I vkSj II
vuqlj.k djrs gSaA

Q.20 Three of the following four
letter-clusters are alike in a
certain way and one is
different. Pick the odd one

out./fuEufyf•r pkj v{kj&lewgksa esa
ls rhu ,d fuf'pr rjhds ls leku gSa
vkSj ,d vyx gSA fo"ke dks pqfu,A
1. UVD 2. PQI
3. JKZ 4. EFT

Q.21 Select the figure from among
the given options that can
replace the question mark (?)

in the following series./fn, x,
fodYiksa esa ls ml vkÑfr dk p;u djsa
tks fuEufyf•r J̀a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir dj ldrh gSA

1. 2.

3. 4.

Q.22 If '+' means '÷', '–' means '+',
'×' means '–' and '÷' means '×',
what will be the value of the

following expression?/;fn '+'

dk vFkZ '÷'] '–' dk vFkZ '+'] '×' dk
vFkZ '–' vkSj '÷' dk vFkZ '×' gS] rks
fuEufyf•r O;atd dk eku D;k gksxk\
[{(34 × 12) - (4 ÷ 3)} + (12 - 5)]
÷ 5
1. 10 2. 1
3. 2 4. 20

Q.23 Select the option that is related
to the third word in the same
way as the second word is
related to the first word. (The
words must be considered as
meaningful English words and
must not be related to each
other based on the number of
letters/number of consonants/

vowels in the word)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh

rjg lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k@O;atuksa@Lojksa dh la[;k
ds vk/kj ij ,d nwljs ls lacaf/r ugha
gksuk pkfg,)
Kite : Diamond :: Ball : ?
1. Triangle 2. Square
3. Round 4. Pentagon

Q.24 Select the word-pair that best
represents a similar
relationship to the one
expressed in the given pair of
words. (The words must be
considered as meaningful
English words and must not be
related to each other based on
the number of letters/number
of consonants/vowels in the

word)/ml 'kCn&tksM+h dk p;u djsa tks
fn, x, 'kCnksa dh tksM+h esa O;ÙkQ fd, x,
leku laca/ dk lcls vPNk çfrfuf/Ro
djrk gSA ('kCnksa dks lkFkZd vaxzsth 'kCn
ekuk tkuk pkfg, vkSj 'kCn esa v{kjksa dh
la[;k@O;atuksa@Lojksa dh la[;k ds vk/kj ij
,d nwljs ls lacaf/r ugha gksuk pkfg,)
Money plant : Climber
1. Rose : Shrub
2. Peas : Green
3. Basil : Tree
4. Banyan : Roots

Q.25 Select the option that is
related to the third number in
the same way as the second
number is related to the first
number and the sixth number
is related to the fifth number./

ml fodYi dk p;u djsa tks rhljh
la[;k ls mlh rjg lacaf/r gS tSls nwljh
la[;k igyh la[;k ls lacaf/r gS vkSj
NBh la[;k ikapoha la[;k ls lacaf/r gSA
15 : 125 :: 27 : ? :: 36 : 1728
1. 689 2. 749
3. 790 4. 729

Q.1 Choose the correct meaning
of the given idiom.
Turn over a new leaf
(1) To begin again
(2) To stop finally
(3) To plant a tree
(4) To take a break

Q.2 Sentences of a paragraph are
given below in jumbled
order. Arrange the sentences
in the correct order to form

a meaningful and coherent
paragraph.
A. The principal wished the

students continued to aim
for perfection in their
future endeavours.

B. The principal also lauded
educators for their tireless
efforts to educate students
and inspire them to come
up with new ideas.

C. Our college’s principal
delivered an excellent
speech in which he lauded
the pupils.

D. The principal mentioned
how teaching assistants
assisted students in
resolving academic and
social challenges.

(1) ABCD (2) CDBA
(3) CABD (4) DBAC

Q.3 Select the most appropriate
meaning of the underlined
idiom in the given sentence.
A fair-weather friend can
never be trusted in the times
of exigency.
(1) A close friend
(2) A pen friend
(3) A selfish friend
(4) An old acquaintance

Q.4 Parts of the following
sentence have been given as
options. Select the option that
contains a grammatical error.
Bobo was / very richer than
Jim / as he had illicitly
accumulated / all his wealth.
(1) very richer than Jim
(2) all his wealth.
(3) as he had illicitly

accumulated
(4) Bobo was

Q.5 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence.
Unemployment has become a
fiery question of the day.
(1) become a burning question
(2) become a freezing question
(3) become a furious question
(4) become a flaming question

Q.6 Select the most appropriate
ANTONYM of the word
‘PENNILESS’ from the given
sentence.
Living in a house with a
spacious lawn a proper parking
space and a nice swimming
pool is still a dream for many
rich people in Mumbai.
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(1) Rich (2) Space
(3) Spacious (4) Dream

Q.7 Select the option that is
similar in meaning to the
underlined word.
He gave a concise explanation
of the company’s retirement
plan.
(1) Clear (2) Verbose
(3) Terse (4) Sharp

Q.8 The following sentence has
been split into four
segments. Identify the
segment that contains a
grammatical error.
They all, except Shirin, were
very sad / during the farewell
party given / to the teacher
retiring, and her /
indifference were well noticed.
(1) They all, except Shirin,

were very sad
(2) during the farewell party

given
(3) indifference were well

noticed
(4) to the teacher retiring, and

her
Q.9 Select the word segment

that substitutes (replaces)
the bracketed word segment
correctly and completes the
sentence meaningfully:
Estella had hardly heard the
news (after) she began to weep.
(1) while (2) well
(3) than (4) when

Q.10 Select the most appropriate
ANTONYM of the given word.
Accept
(1) Agree (2) Respond
(3) Deny (4) Confirm

Q.11 Select the most appropriate
option to fill in the blank.
I am _____ after five years.
(1) making an exam
(2) taking an exam
(3) keeping an exam
(4) frying an exam

Q.12 Select the most appropriate
option to replace the
underlined segment in the
given sentence.
They spoke about the political
turmoil in the state.
(1) expressed (2) said
(3) talked (4) stated

Q.13 Select the correct active
form of the given sentence.
Luckily, the machinery was
not used by them.

(1) Luckily, they had not used
the machinery.

(2) Luckily, they did not used
the machinery.

(3) Luckily, they have not
used the machinery.

(4) Luckily, I did not used the
machinery.

Q.14 Select the most appropriate
option to fill in the blank and
complete the collocation.
Happiness can be spread by
being grateful or ________
compliments to someone.
(1) giving (2) paying
(3) accepting (4) sharing

Q.15 Parts of the given sentence
have been given as options.
One of them contains a
spelling error. Select the
option that rectifies the
error.
In research done by an online
publecation it was found that
the most popular password is
123456!
(1) publication(2) password
(3) research (4) popular

Q.16 Select the correct active
form of the given sentence.
You are asked to tell the
plumber to mend all the
pipes.
(1) Command the plumber

mending all the pipes.
(2) Tell the plumber to mend

all the pipes.
(3) All the pipes must be

mend.
(4) Tell the plumber mending

all the pipes.
Q.17 Select the option that can

be used as a one-word
substitute for the given
group of words.
Holding on to something or
keeping an opinion with
determination
(1) Gracious
(2) Tenacious
(3) Obnoxious
(4) Loquacious

Q.18 Parts of the following
sentence have been given as
options. Select the option
that contains a grammatical
error. If you don’t find any
error, mark ‘No error’ as
your answer.
Her concerts / are very admired
/ by the foreigners / no error.

(1) are very admired
(2) by the foreigners.
(3) No error
(4) Her concerts

Q.19 Select the INCORRECTLY
spelt word.
(1) Sabbatical
(2) Confluence
(3) Sinhaleese
(4) Conform

Q.20 Select the most appropriate
ANTONYM of the word vivid
from the given sentence:
In my murky memory lane, I
still could vividly apprehend
and envision the pictures of
Nischindipu while reading
Bibhutibhushan
Bandyopadhyay’s “Pather
Panchali”
(1) perceive (2) apprehend
(3) murky (4) envision

Comprehension: In the following
passage, some words have been
deleted. Read the passage carefully
and select the most appropriate
option to fill in each blank.
The thing nodded vigorously; as it
nodded, the left button-eye fell off
and (1) ______ (2) ______ the
concrete floor. The thing looked
around (3) ______ with its one eye,
as if it had lost her. The thing
twisted bonelessly (4) ______ its one
eye was again facing her. And it (5)
______ across the cellar towards her
then.
Q.21 Select the most appropriate

option to fill in blank
number 1.
(1) clattered (2) hissed
(3) fizzed (4) buzzed

Q.22 Select the most appropriate
option to fill in blank
number 2.
(1) up (2) to
(3) at (4) on to

Q.23 Select the most appropriate
option to fill in blank
number 3.
(1) wittily (2) ferociously
(3) vacantly (4)
involuntarily

Q.24 Select the most appropriate
option to fill in blank
number 4.
(1) unless (2) until
(3) ever after (4) even so

Q.25 Select the most appropriate
option to fill in blank
number 5.
(1) hung (2) rung
(3) lunged (4) flung


